W a% ATTE TE TS GIRrHT @i F 7 FHET WY qF a6 T A

A, : GH-F-BST ‘ e gfernt SgseR

e et gferet |
0229601 | wmwT Awaar wd gfgwan

WY

Far S qurfss : 250

10.

AN

it T B 3 g W1E, AT W v gferen 6 ugare v w o e et e R o,

T TT T AT S AT WA i W W | afd Qe , o o wlt wdheror gfevn & www & |

Foar @ s OMR e # Ifa v w I TR AR wderor giewe s A, B,

CuTD = T ¥ wE faren Rt w wn Rl F w1 3R Fewg =@ A el sefigar

£ ¢ | et s vEr N gw /Fenfy B Raf § s fom w Ran s |

T T gt o A 3 fiu g e # et s

s forae @ | wlem g Rtk o A fod |

v e gfew # 125 wwiw (ve) Re g € | s wei fed sk stdeh A1 F o # |

W W # TR TR (SW) o g ¥ | v ¥ @ v F W A, B a9 Sw-wsE W

siftra e wea € | AR et Y o F uw A ot g W €, @ 9w v @ sife R

N IRt FET W | 4w G F e e v € W 39 R

T T Tl TR e & Ry g I-wrs W sifa w € | Sw-ws # fog e v )

wsft w6 o wHE R |

TR v 5 o e gfemn ¥ Rftm vl 3 o ST W R R gE wW, s

AT THO-97 % wra W SRyt & AR 59 frewor sw-wrw # 37 E |

AT R T HGER Y SR F A F G T TR 3 FHIA T AR IR -TE Al

g ¥ | e s A e gt & 9 6 Al R |

Foy FW & forg v, wie gferm & s # e € )

wegfres wya-wst # gefigar g Ry g e swdt ¥ g gve fea s o

() v e % forg wR A5 s ¥ | Inficar gr1 v v 3 forg Ry g o wew swE
forg we ¥g Fraa T g st o e - fergrd gus & w9 3 = S |

Gi) af o Il uw A sifte SeR 3 R, @ 0w Swewmn S, Ty g T e # @
wF I a8 o 2, AR st 98 v 3 forg srfger @ S ate @ gve fean s |

(i) A IEhear Ry #E W v T R st R, sratq Ieficar g SR @ R s @, @
w8 v % forg g que et foan s |

WE T ATTH! TE TAEVT YIersT @A T 7 HeT Y ad aF 7 @t

Note : English version of the instructions is printed on the back cover of this Booklet.



1. WRd & AergEEre & 9r 7 et
# W W w7

(a) WEIEATG &I GEG & WAl A
e & AfeR B

(b) FEFIIEATGI W AUN  wEIE A
Fdeqt & e[ § WA & Tod8T §
asft =Tt § gaar @ after
TR

(c) S8 # @@l Ay B =fed W
Jo9qq AT & Ush e
T4 & e srevEs ot 8

(d) T8 T&R & fog = qiefos
WAl (Fead) 8

2. Toem-vieat % @@ T e I U &
oy A frafafee 9@t w fEr
Hifom

1. ¥ FAEES e Hged &
el @ gEE B9 € 3R 10
oAt @ o & Afew w Hifes s
& forg o w1 g §

2. %9 guEw W wied f& W
T ¢ afe wafRa = e s
A & forg wema &

3. §q AT UF UFHA & GRE
98 T §

SIYH H W A A I T 7
(a 1,23R3

(b) Fae 132

(c) Saw 233

(d) Fae 133

GHY-F-BST - A

3. H6g 3R o9 fum-veat & we@t &
fdar & ey # wra & dfeam
10 < st & weft feafafea # 3
I AT T dE TR & ?

(a) g ftElm @@t & f§
Fraffua wee qor-sge & smaR W
forféa fordt s e €

© (b) TH-E F IR R frEa g

Toifae o o foog & wmat #
HRL el Bt ©

(c) far & wme w=fRa w7 &

- wwfy @ e gR Rl R
ST €

(d) S "M FTEAR WA €, 97 #

WRA & S=aa9 g A

ECIEC R
4. gt IR sdegat & frafafea gt
A H 91/8 W gt gaferd & /8 ?
1. TSE g |l @eE 3R
=gl
2. 99 gl :  ATTRERT,
eftmer 3k
E e
3. guad gt ;. faftes, fafecdia
3R I ™

A fou g Fe F oW R @ IW
EETQ:

(a) e

(b) 1,23R 3

(c) et 2 3R 3

(d) Faa3




1. Which one of the following statements
about the Attorney-General of India is
NOT correct ?

(a) He shall have the right to speak in
the Houses of Parliament

(b) He shall have a right of audience
in all Courts in the territory of
India in the performance of his
official duties

(c) He must have the same qualifica-
tions as are required to be a Judge
of the Supreme Court

(d) He is a whole-time counsel for the

Government

. Consider the following statements
relating to short notice questions asked
in the Legislature :

1. These relate to matters of urgent
public importance and can be
asked for oral answer at a notice
less than 10 days

2. Short notice questions can be
admissible if the Minister con-
cerned agrees to answer to it

3. Short notice questions are asked
during question hour

Which of the statements given above
are correct 7 '

(@) 1,2 and 3
(b) 1 and 2 only
(c) 2 and 3 only

(d) 1 and 3 only

3. Which one. of the following is NOT

true of the 10th schedule of the
Constitution of India pertaining to
disqualification of members of the
Parliament and State legislatures ?

(a) The schedule lays down that
elected members may be
. disqualified on the grounds of
defection

(b) Disqualification on ground of
defection does not apply in cases
of merger with another political

party

(c) Cases of dispute are decided by
the speaker or Chairman of the
House concerned

(d) The Supreme Court of India is the
final arbiter in cases which remain
unresolved

. Which of the following pairs of list

and contents is/are correctly maiched ?

Public health
and sanitation

1. State list

2. Union list Citizenship,
naturalisation
and aliens

3. Concurrent Legal, medical

list and other
professions

Select the correct answer using the
code given below :

(a) 1 only
(®) 1,2and 3
(¢) 2 and 3 only
(d) 3 only

A — GHY-F-BST



s.fffm i d s o sm et & 7

(2) “ﬂﬂfﬂﬁﬁaﬁﬁmﬁm'@m%ﬁ
fawmogstt # = g

(b) ShampEit & adwfRa dar @
wg Fremogeit % e S

(c) ﬁ'ﬂT‘ﬁaﬂ‘ | WTSa'ﬂﬁﬁm BT
Ty St # 7 e

(d) FrempEi # o Fifte el O
® weeg St # 7 St

Lafe foedt Sifie & 9)E iR Sof@m
aregE " SN A SR
ftre 8, 7o Pl A ¥ SR @t o=

AT BRit ?

(a) et S/t IR0 AT

(b) SRR & Fg B FRA

~(c) s aRad =g g

(d) = s = @ o

. GG gl wfeRe (RER) & T
et @ dE R I8 geed feard
T | W o | fefafea § fa

FIE & R oW ¥ Y Rarh @
27

(a) ARE F5
(b) T

(c) @TsEEm
(d) TE=EEw

GHY-F-BST - A

qreat #, @ IR et fit wrd # gy
BN H HROT B ‘

(a) wed fawegiae
(b) st fawsaras
(c) fer fawsuias

(@) fidfias gfg
.Ueq Hifyreeet #, ehify sk werar

s Em R g ?
(a) TEEEIH

'(b)wrsﬁaﬁﬁ;m

10.

11.

(c) TSIt Iqaur

(d) =ifiEwr @ ¥ 5w g
AT I BT &

(a) T

(b) afcfer &

(c) afdfamr &

(d) oy

gEE wiem & fewm & e,

foret SeuTeR wom # W aftEfieE =g
& ufad! e i 3HEAT WG Hi S

£ 5o f5 = g wrs & wEwEt @

R et = @, @ u Y forg amar @
e Fw

(a) ¥wra "Ity @9 o STl
(b) 3haa gy =7 B sTwh
(c) ¥Wia g FH B @
(d) Hwiq SeTg g STEm



5. Which one of the following statements 8. The increase in length of stems and
is correct ? roots in plants is due to
(a) Bacteria contain cytoplasm but (a) lateral meristem
iruses do not (b) intercalary meristem
(b) Bacteria contain mitochondria but (c) apical meristem
viruses do not
(d) secondary growth
(c) Viruses contain mitochondria but ;
bacteria do not : 9. In plant cells, the turgidity and rigidity
: is provided by
(d) Viruses have a cell membrane but _
bacteria do not . (a) ribosomes

(b) mitochondria
6. Which one of the following will

happen if the medium surrounding the (c) golgi apparatus
2:}} ;‘as # higher concentration than the " (@ vacuoles full of cell sap
" (a) The cell will gain water 10. Pollens are produced in
(b) The cell will die () Gyl
(b) Style
(c) There will be no change
: (c) Stigma
(d) The cell will lose water @ Anther
7. Rough endoplasmic reticulum (RER) 11. According to the Law of Diminishing
looks rough under the microscope Returns, in a production function when
because of the attachment of which more and more units of the variable
one of following cell organelles to its factor are used, holding the quantities
surface ? of a fixed factor constant, a point is
reached beyond which
(a) Centrioles
(a) the marginal revenue will diminish
(b) Plastids ol
(b) the average revenue will diminish
() Lysosomes (c) the marginal product will diminish
(d) Ribosomes (d) the marginal product will increase
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12. Which one of the following is NOT

correct ?

(a) The Average Revenue and
Marginal Revenue curves of a
perfectly competitive firm are
perfectly elastic

(b) The Marginal Revenue curve of
the monopoly firm is above its
Average Revenue curve

(c) In the long-run, a competitive firm
earns only normal profits

(d) In equilibrium, the Marginal Cost
Curve of the monopoly firm may
be rising, falling or constant

13. Zero price elasticity of demand means

(a) whatever the change in price,
there is absolutely no change in
demand

(b) for a small change in price, there
is a small change in demand

(c) for a small change in price, there
is a large change in demand

(d) for a large change in price, there is
a small change in demand

14. Suppose that the price of a commodity

increases from ¥ 90 to ¥ 110 and
the demand curve shows that the
corresponding reduction in quantity
demanded is from 240 units to 160
units. Then, the coefficient of the price
elasticity of demand will be

(a 1-0
() 24
(c) 05
(d 20

15,

16.

17,

18.

What is the real interest rate on a
Credit Card loan bearing 24% interest
per year, if the rate of inflation is
10% ?

(a) 240%

(b) 34%

(c) 14%

(d) 4%

Which one of the following is know;x
as Wood Spirit ?

(a) Methanol

(b) Ethanol

(c) Formaldehyde -

(d) Acetaldehyde

Which one of the following will NOT
show Tyndall effect ?

(a) Chalk powder freshly mixed with
water

(b) Lime juice

(c) Few drops of milk mixed with
water

(d) Starch solution

Which of the following are the most

favourable conditions for liquefying a
gas ?

(a) Low pressure and high tempera-
ture

(b) Low pressure and low temperature

(c) High pressure and high tempera-
ture

(d) High pressure and low tempera-
ture

A — GHY-F-BST
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19.

20.

21.

22.

Aluminium, Iron, Copper and Zinc are
extracted from

(2) Bauxite, Magnetite, Malachite and
Calamine respectively

- (b) Magnetite, Bauxite, Malachite and

Calamine respectively

(c) Calamine, Malachite, Magnetite
and Bauxite respectively

(d) Malachite, Magnetite, Bauxite and
Calamine respectively

Which one of the following does NOT
contain COOH group ?

(a) Citric acid
(b) Lactic acid
(c) Tartaric acid

(d) Ascorbic acid

The Soda-acid fire extinguisher con-

tains

(a) sulphuric acid and solution of
sodium hydrogencarbonate

(b) nitric acid and solution of sodium
hydrogencarbonate

(c) sulphuric acid and solution of
sodium carbonate

(d) sulphuric acid and solution of
potassium carbonate

Who among the following was NOT
associated with the Kakori Conspiracy
Case ?

(a) Ramprasad Bismil
(b) Rajendra Lahiri
(c) Ashfaqulla Khan
(d) Surya Sen

23. Which of the following statements

about Bhagat Singh is/are NOT true ?

1. Bhagat Singh was influenced by
socialist ideas

2. He was a member of the
Hindustan Socialist Republican
Association

3. Bhagat Singh threw a bomb in the
Central Legislative Assembly in
1929 with the objective to kill
as many people as possible

Select the correct answer using the
code given below :

(a) 1and3
(b) 2 and 3
(c) 2 only
(d) 3 only

. Which of the following statements

about Ishwarchandra Vidyasagar is/are
NOT correct ?

1. Vidyasagar’s writings significantly
helped to develop the Bengali
language

2. He received the title ‘Vidyasagar’
from Presidency College, Kolkata

3. He was enthusiastic about the
spread of women’s education

4, Vidyasagar defended widow
marriage without being convinced
about scriptural support

Select the correct answer using the
code given below :

() 2 and 4
(b) 1 and 2
(c) 4 only
@ 3
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25.

26.

Which among the following statements
about the Jallianwala bagh massacre
is/are correct ?

1. In Jallianwala bagh troops open.ed
fire upon an unarmed crowd

2. The troops were under the
command of General Dyer

3. The troops did not issue any
waming to the people before
opening fire

Select the correct answer using the
code given below :

(a) 1 only
(b) 1 and 2 only
(c).1,2 and 3

(d) 2 and 3 only

The Voter Verifiable Paper Audit Trail

(VVPAT) system was used for the first
time by the Election Commission of
India in i

(a) North Paravur Assembly Con-
stituency, Kerala

(b) Noksen Assembly Constituency,
Nagaland

(c) Mapusa Assembly Constituency,
Goa

(d) Nambol Assembly Constituency,
Manipur

11

28. Who among the

27. Name the theme of the annual report
- published by the United Nations

Population Fund (UNFPA) on State of
World Population — 2019.

(a) Worlds apart : Reproductive health
and rights in an age of inequality

(b) The power of choice : Reproduc-
tive rights and the demographic
transition

(¢) Unfinished business — the pursuit
of rights and choices for all

(d) How our future depends on a girl
at this decisive age

_ following was
awarded Saraswati Samman for the
year 2018 ?

(a) K Siva Reddy
(b) Mahabaleshwar Sail
(c) Padma Sachdev

(d) Sitanshu Yashaschandra

29. ‘Kandhamal Haldi’, which received GI

tag recently, is a variety of turmeric
indigenous to

(a) North Bengal

(b) Southern Odisha
(c) Sangli, Mailarashtra
(d)l Alleppey, Kerala
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30. Zayed Medal is the top civilian honour
of

(a) Pakistan
(b) Saudi Arabia
(¢) United Arab Emirates

(d) Qatar

31. When a longitudinal wave moves
through a certain medium, the quantity
which is transmitted through the
medium is
(a) material of the medium only

(b) energy only

(c) both material of the medium and
energy

(d) none of the abdve

32. The number of neutrons inside the
nucleus of the element Uranium-235 is

(a) 235
(b) 92
(c) 143

(d). 51

33. A snowboard pulled up by a tow rope
travels at the rate of 5 m/s up a
mountain. If 3000 watt of power is
used, what force was applied to it ?

13

(@) 50N
(b) 100 N
(c) 600 N

(d) 15000 N

34. Which one of the following is NOT

true for an electromagnetic wave ?

(a) Electromagnetic wave transports
energy and momentum

(b) Electromagnetic wave can be
polarized and reflected

(c) Electromagnetic wave is longi-
tudinal

(d) Electromagnetic wave propaga-
tion is described by the varying
electric and magnetic fields

35. Which one of the following is NOT an

electromagnetic wave ?
(a) Light wave
(b) Radio wave
(c) Sound wave

(d) Micro wave

| 36. Brilliance of diamond is due to

(a) interference of light

(b) diffraction of light

- (c) polarization of light

(d) total internal reflection of light

A — GHY-F-BST
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37. Which of the following conditions
is/are essential for wheat cult.ivation ?

1. Optimum temperature during
growing period is around 30°C

2. A frost-free period of about
100 days

3 Light clay or heavy loam soil

Select the correct answer using the
code given below :

(@ 1,2 and 3
() 1 and 2 only
(¢c) 2 and 3 only

(d 1 only

38. Gwadar port is located in
(a) Pakistan
(b) Iran
(c) India

(d) Sri Lanka

39. North-west part of the Indian peninsula
was converted into a great centre of
vulcanicity in
(a) the end of Cretaceous period
(b) the mid of Cretaceous period

(c) the start of Cretaceous period

(d) the whole of Cretaceous period

15

40. What is the natural number n fof which
3%+ 3124315+ 3" j5 a perfect cube of
an integer ?

(a) 10
(b) 11
(c) 13
(d 14
41. If a circle and a square have the same
perimeter, then
(a) their areas are equal

(b) the area of the circle is greater
than the area of the square

(c) the area of the square is greater
than the area of circle

(d) the area of the circle is two times
the area of the square .

42. Let X2 +y*=1;
w+v*=1 and
" xu+yv=0, then

1. 2+u?=1

2. +v2=1

3. xy+uv=0

Which of the above is/are true ?
(a) 3 only

(b) 1 and 2 only

(c) 1,2 and 3

(d) 2 and 3 only

A — GHY-F-BST




43.

afe ad (g af A Bgw) W wEen
fem R a1, o= s@ af = afw
i |7 a1 ?

(a) "FER

- (b) FER

44,

45.
PR 3 & w1 foa o i & 7

46.

© yfErR
(d) =¥ & =

AwFR # 3R 10 e ik Tl ok
10 WX F@@ B | TUE TAF oK
Foft St AR ggaR q® T 5, 15
R 15 WX wof@r B | 3= T IO
it g A R & 2

(a) 55 #Hix

(b) 23 =X

(c) 5 H®

(d) = F ¥ S TE

T & Aifa & fews T #,

(a) & 9= &1, frem @ sk =i
AEel H oWl gerar 9 &
SR

(b) TFIRERt & forq gam fafaer afean

(c) =muiferr w1 wEuferer @
GEFHL

(d) ®WHT @I & WeEE H
FHARI 6 ARieR)

Frafafea & @ feg g /vfen &
FIER Yo AR s & fawem @
wafta fofg = =gt B g -

foram wwelt & HeEt & HaeE % U

R ferar ST ar ?

GHY-F-BST - A
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47.

(a) “e& faré

(b) Torm fasm @@=
(c) =afe feard
(d) ' ATSveaed WE

A9 I F eyl ArwaE g &

aR # feafafea & 4 9w w1/8 ==

e g/8 ?

1. 98 Vol 1 & AR @ 2 a)ar
21

2. MERATET G ATHS IR
ARG AT & aF e
w/el |

T @ W e 7w W wE SR

(a) &9 1

(b) Hhad 2

(0) 1¥R 23

48.

d T 1,782

T &I Aifa & feves 9@ & e #

feafafaa & ¥ 9 @1 =7 a8 =@

®7? -

(a) T &t Hifd & ey T &
qed TS9O WA F AW %
| -w1y s fmt # o s

) T fq Ay F Ry =
T g@fqam & s T &
&g &l i Y oI § .

(c) Tl & wex fomme Ht faafy oo
H Afc & foys T, W™
FftERt W) 3T W §

d T @it Ay F fews o=
A § Faadg el g




43. If the first day of the year (other than

 the leap year) was Sunday, then which
was the last day of that year ?

(a) Monday
(b) Sunday
(c) Saturday
(d) None of these

44. A walks 10 metres in. front and 10

 metres to the right. Then every time
turning to his left he walks 5, 15 and
15 metres respectively. How far is he
now from his starting point ?

(a) 55 metres

(b) 23 metres

(c) 5 metres

(d) None of these

. Which of the following is NOT

provided for under the Directive
Principles of State Policy ?

(a) Right to work, to education and to
public assistance in certain cases

(b) Uniform Civil Code for the citi-
zens

(c) Separation of Judiciary from
executive

(d) Participation of workers in the
management of local-self govern-

ment

According to which one of the
following plans/reports, the decision
with regard to the partition of Punjab
and Bengal was to be taken on the
basis of voting of the Members of the
respective Legislative Assemblies ?

17

47.

48.

(a) Nehru report

(b) Cripps mission plan
(c) Beveridge report
(d) Mountbatten plan

Which of the following statements
about Max Weber’s ideal theory of
Bureaucracy is/are correct ?

1. It refers to the dominant class
character.

2. Bureaucracy is associated with
structural and behavioral charac-
teristics.

Select the correct answer using the
code given below :

(a) _1 only

(b) 2 only
(¢) Both 1 and 2

(d) Neither 1 nor 2 ‘

Which one of the following statements
regarding the Directive Principles of
State Policy is NOT correct ?

(a) State shall follow the Directive:
Principles of State Policy both
in the matter of administration
as well as in the making of laws

(b) The Directive Principles of State

" Policy embody the object of

the State under the republican

Constitution

(c) The Directive Principles of State
Policy have precedence over the
Fundamental Rights in case of

conflict between the two

(d) The Directive Principles of State
Policy are not enforceable in the

Courts

A — GHY-F-BST



49.

50.

51.

R A @ uRwfiE @R e
ey, Frafofe #§ & < @ € 2

1. wifdefes  w@R s,
wma: faftes, fraat @ sneanfa
Bt ® ‘

2. INIRSE  @aaaradl 3R aafee
At &y ot 2

3. I8 eiHifas WifteR &, a99q:
seifim wfts & vy Rk =
?

T & ™ Fe = Wb W ad R
L LSS

(a) Faer13R3

(b) et 1 3R 2

(c) Haer 233

d 1,23R3

HIEHEe UGy @Ef | W & fo
ATEA BT € ?

(a) ¥ SURR &F &

(b) =g AraTER #

(c) U TR

(d) wfra saremEa e #
frafafea & @ 9 @1 e dote
(FrsRfan) ¥ gt @ 2

(a) wAfEr 3R goa quiy

(b) &Y SRl 3R WL FRd
() Tyt AR T

(d) gw=e AR aEHE

GHY-F-BST - A
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52.

53,

54.

TRt wrew & WRIE oy i AR 7w
s forer & weift ® 7

(a) FHTATIGA

(b) EATHSE FHTATHIA

(c) HUTHS R

(d) Frferarferar

qTeq WSl e STl SRS o
AN T H R e € 2
(a) U '

(b) T A

(c) sray=d

(d) U

TF qE-foga wwd ¥ w9 # wndw

(vHfes) s &9 ¥ wyeh fomam st
RlwmAR e e ?

(a) Hg
(b) Si
(c) Ti

"~ (d) Sn

53.

e ggaor & forg freafafe # & =
W<k ferar StraT @ 2

(a) Mg(HCOs),
(b) Na;PO,
(¢) NagPsO,5
(d) Na,HPO,



49, Which of the following are the 52. Bending of shoot of a plant towards
defining features of liberal demo- light can be referred to as
cracy ?
(a) photonasty
1. Constitutional government based
on formal, usually legal, rules . (b) positive phototropism

2. Guarantees of civil liberties and (c) negative phototropism
individual rights

; (d) photoperiodism

3. It invests political authority with

potentially unlimited power 3 ;
53. Epidermal cells of plant roots increase

Select the correct answer using the their absorption surface by having
code given below : '

(a) Scales
(@) 1 and 3 only
(b) Root hairs
(b) 1 and 2 only |
: (c) Endodermis
(¢) 2 and 3 only
(d) Stomata
(d 1,2 and 3
54, Quartz is extensively used as a piezo-
50. Phreatophytes are the plants adapted S M Y PR
to grow in
i  (a) Hg
(a) moist shaded places
Si
(b) rocky environments ()
(c) arid environments () Ti
(d) Sn

(d) active volcanic lava

55. Which one of the following is used for

51. Which of the following organisms vitir soBeE T

belongs to Coelenterata (Cnidaria) ?

(a) Planaria and liverfluke ' (2) Mg(HCO;),
(b) Sea urchin and sea cucumber (b) Na;PO,

(c) Hydra and sea anemone () NagP¢Oys
(d) Euplectella and sycon (d) Na,HPO,
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56.

i ¢

58.

afe T FomEE X & wifeaw e W

Na,X 8, T S0 TegHif@m v &
T FT BT ?

(a) AIX ..

(b) AlX,

(C) A12X3

(d) ALX,

e o w1 (3) I we seferaE

#, afe i suser wafv @83 0-90 §,
I A (FET) TR ?

(a) 10-00
(b) 1-00
(c¢) 0-90

(d) 010

T Haw figa (v @ figa) &
FIER, A & foeg @ Suww o5
WEuraT Bl §
(a) =ATCHS®

(b) HUTHS

() Y=

(d) =

GHY-F-BST - A

20

59.

60.

61.

frafafee & @ = @1, & S

S (e Hifer) &1 e ® 2

(a) R ¥ BaE FHAAT gRT wHIREA
fererd

(b) foege & e w ot Fima

(c) =T SeaTeat & T graw awda

g .

(d) ToT wWER R Fraifa e
A

Tah FdEedr Sl AU G SHEAT

dma (dwmEs) | R, & dEw #

feffmda s o adr ¢ 2

(a) forelt qadt avg &1 SuTed W@W &
forr srferaear 9t us a5 * g©
IATEHA S AW G (FA AT
T)

(b) 96 T ¥R F IA@wEA A,
sfeaer & fou 1 " stgar
afeey & ®

(c) sd=Een & fag a@ fomlt @&
g w1 ftw Ioare foRdt gEd
e & IJIGT @ Hel fomn, W
Hohall ©

(d) THRT ITGH HHTEAT HHTash Ueh
JEHT TEUTAT 95 ©

“Fraeafiar fRawe”’ (e atw
farge) & sEemon B R wm@= 2
(a) TeH o |
OEEERINES

(c) = ATE =g

(d) 9 T, dwgere



56. If formula of sodium salt of an anion

X is Na,X, then the formula of its
aluminium salt would be

(a) AIX
(b) AlX;
(C) A12X3

(d AlLX,

57. In a closed economy with no taxes,
if the marginal propensity to consume
is always 090, then the value of the
multiplier will be

(a) 10-00
(b) 1-00
(c) 0-90

(d 010

58. According to simple Keynesian theory,

" the slope of the aggregate consumption
curve against income is

(a) Positive
(b) Negative
(c) Zero

(d) Infinity

21

59. Which one of the following is an

example of a price ceiling ?
(a) Fares charged by Airlines in India
(b) Price printed on biscuit packets

(¢) Minimum support price for cane
growers

(d) Minimum wages fixed by state
Governments

60. Which one of the following statements

is true with regard to an economy
which is on its production possibility
frontier ?

(a) The economy has to sacrifice
some production of one commo-
dity in order to increase the
production of another commodity

(b) There is no limit or constraint for
the economy in the production of
goods and services

(c¢) The economy can produce more
of one commodity up to a point
without reducing the production
of any other commodity

(d) Its production possibility frontier
is an upward sloping curve

61. Who coined the concept of “Paradox

of Thrift” ?

(a)‘ Adam Smith

(b) Alfred Marshall

(c) John Maynard Keynes

(d) Paul A. Samuelson

" A — GHY-F-BST



62. fafeife & @ o9 @ a= st 2

WRA & a4 W AR, @@ sk
aritor &=t fawfom fomam 2

(a) a7 rferfem 1864
(b) o Afafmm 1865
(c) = sflfemm 1866
@) = sftrfem 1878

63. Frferfaa weamit w faer ifs -
l.mﬁr&ﬁﬁm

2. 3 WA ht I

3. SR GHST T ST

4. GIHEE Al < 4TI

I W GE  HThS H
feffm da e & 2

(.a) 1,2,3,4
(b)) 2.3.4.1
(c) 3,4,1,2
(d 3,4,2,1

64. T 1905 & et e & wed |

frffm i sma s ad € 2

1. STl ® <A wealw s feg
T[Q

2. TereRel # geATe 6 T

3. g <l ESTT TRAURET gRT
& T A, fRg Sg F ot #
FifcrarRt TgaTfeat ¥ 3@ st gt
# o form

GHY-F-BST - A
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65.

66.

67.

= i T Fe W oW W ol SR
gfeg : |

(a) 1,233

(b) Sae 1 3R 2
(c) Haa2 3R 3
(d) %Haa 133

I AT T ® ?

(a) Trfor weanfeat &t s
(b) Sereaidt TeerERA H T
(c)ﬁm‘nmﬁﬁﬁw
(d) &1 Tewarfedt H A

afe 9=t 1 fRefin wvae =05 =a
(aftemmr-ua) &t SR g g wE 9,

at

(a) o€ & s s T Bt

(b) ¥ =g IR siferes Sy

(c) gsit ¥ ¢ aeama 78 erm

(d) sfta =g & 3R 3iftes o= grm
freffen % ¥ 9 M, w A g
TE R ?

(2) ¥

(b) 3G A

(ORILER]

(d) =wHT




62. Which one of the following Forest

Acts divided forests of India into
reserved, protected and village forests ?

(a) Forest Act 1864
(b) Forest Act 1865
(c) Forest Act 1866
(d) Forest Act 1878

63. Consider the following events :

1. 'Foundation of the Ramakrishna
Mission

2. Foundation of the Arya Samaj
3. Foundation of the Brahmo Samaj

4. Foundation of the
Mandali

Paramhans

Which one of the following is the
correct chronological order of the
above ?

@ 1,234
®) 2,3,4,1
©) 34,12
@ 3,421

64. Which of the following are true in

the context of Swadeshi movement in
1905 ?

1. Massive demonstrations were held
in Bengal

2. Hartal was observed in Calcutta

3. The movement was initiated by
the moderates, but was taken over
by the revolutionary nationalists at
a later stage

23

65.

Select the correct answer using the
code given below : - -

(@ 1,2 and 3
(b) 1 and 2 only
(c) 2 and 3 only

(d) 1 and 3 only

What is Sant bhasha ?

(a) Language of the nirguna mystics

(b) Language of the ulatbansi mystics
(c) Language of the nirakar mystics

(d) Language of the saguna mystics

. If the equatorial plane of earth is NOT

inclined to its orbit, then
(a) duration of the year would be
longer

summer would be warmer

(b)
(©)

there would be no change of
seasons

)

winter would be longer

67. Which one of the following is NOT a

luminous object ?

~(a) Sun

(b) Electric lamp
(c) Candle

(d) Moon

A - GHY-F-BST



68.

69.

70.

71.

i foredt firow W &a wewr o wen fomor
ge @ o B fear s R, o=
frle em T f&a vy & fog
Fftreraw e QAT & 2

(a) 9T HehINT
(b) ST Rt
(c) e R
(d) e ey

frafafeaa & @ o7 & s oReew
gy q@it grr wefifa wdf & o wdt
27

(a) IEAA

(b) Uad+

(c) =aferetor

(d) gau

FRS quitigd (IR wAHThR) #
frfea fogia ©

(a) STamEY

(b) fawe=

(c) f@man

(d) -aTsasfterar

wia & ffofea & @ fora woa 4, =9
Tl a9 ATSBIEA & 3eria farTerad
TR © 7

(a) fewme wewr

(b) SR Wl

(c) ®ATeH

(d) STRIEsS

GHY-F-BST - A

24

72.99F  YUEE  H @@ &9 g

freffm iy 7
(@) B |
(b) TR

(c) Trerg

(d) 3L

73. fr=forfaa & @ =9 a1 seny sifteas

WA a1 & B o IRAT § ?
(a) 20° N A&
(b) 22° N Hr&Tar
(c) 24°N &Y
(d) 26° N &S

74. ST A gferor it 3R femrerdt v Aft

() = wdl A feafafea F @
HTEE ?

(a) FRIHRA, TR, SER, IR T,
firatfers

(b) ¥EM@, SR, YR USITel, FRIGRH,
firarfers

- (c) YR US, SR, HRIhRA, WL,

firarfers

(@) fmerfoss, SR, 9R goimer, e,
HRIIH

75. AHE ©

(a) ST AR F T HE™T &
(b) wig it Tw et gaq

(c) FHEHETRE &% il Ush T Heel
(d) <fEor srfrent & uE ST



68.

69.

70.

71.

When a beam of white light is allowed
to fall on a prism, the maximum
deviation of the emerging light occurs
for i

(a) red light
(b) violet light
(c) yellow light
(d) blue light

Which one of the following pheno-‘

mena CANNOT be exhibited by sound
waves ?

(a) Reflection
(b) Refraction
(c) Interference

(d) Polarisation

The principle involved in paper

chromatography is

(a) Absorption

(b) Partition

(c) Solubility

(d) Volatility

Which one of the following states of

India has the largest area under dense
evergreen forest cover ?

(a) Himachal Pradesh
(b) Arunachal Pradesh
(¢) Karnataka

(d) Uttarakhand

25

72.

73.

74.

15.

Which one of the following is the
- biggest Island of Japan archipelago ?

(a) Honshu

(b) Hokkaido

(c) Shikoku

(d) Kyushu .

Which one of the following latitudes

passes through maximum - Indian
states ?

(a) 20° N latitude
(b) 22° N latitude
(c) 24° N latitude
(d) 26° N latitude
Which one of the following is the

correct order of Himalayan ranges
from North to South ?

(a) Karakoram, Ladakh, Zaskar, Pir

Panjal, Siwalik

(b) Ladakh, Zaskar, Pir Panjal, Kara-

koram, Siwalik

(¢c) Pir Panjal, Zaskar, Karakoram

Ladakh, Siwalik

Siwalik,  Zaskar,
Ladakh, Karakoram

(d Pir Panjal,

Sonoran is a
(2)
(®)
(©)
@

desert area of North America
seasonal wind of France
cash crop of Mediterranean region

tribe in South Affrica

A — GHY-F-BST




76.

77.

78.

R R O T S
srafeaferdt a1 vt s frefafea
JFmare ?

(a) AAR H GE - Tewh TAHETE —
qTeh @rgl

(b) UTeh TASHEHET — HHK &l @Ier —
qTeh @Sl

(c) UTeeh SISHEHES — UTeh @Tel —
AR 6t Gt

(d) UF EE — e m_
TR & gre

o aiie ok witae S &

wE e freaffm dd S ar g 2

(a) FETISAIRUT T GIHAT FAT

(b) "ig (fearss) fammmens st
&l wfearfea a=am

(c) 3N 9 T &0
(d) Sierarg aRads &1 amaT s

uiw P — afm, e, Aife, sfa
#R |reT € | afem o ¥ 3o ¥ D
& dfe e & s @ | Afd w=@
o= ® | sha e @9k Ster sk
A Mg g R I F
feama & sea e s A @ €, a9 TR
T T HIT BN ?

(a) stfa

(b) Hred

(c) ufu=

(d) Fome

GHY-F-BST - A
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79.

80.

81.

82.

afe M, N&T WE ®; B, N % WS ® sk
M, D &1 9T ®, o« Frafafaa § 3 9
o Ffsaswaadt 2 2

(@) N,B&HTHE®
(b) N, M&T A §
(c) NyD&FTHrE 2
(d M,BFTHER

foft fafie wr § GAMBLE =t
FBLCKF & &9 ¥ e wig for sman & |
St @ Wt ¥ FLOWER =1
We Fe g v s ?

() GMPVDS
(b) GKPVFQ
() EMNXDS
(d) EMNTDS

W ¥, Rk RAWE, R A
& Fo &1 # Ty € ok S B war
w1 % | faww o @ gy |

(a) Friendship

(b) Intimacy

(c) Attachment

(d) Enmity

et e &1 weat W 53 ¥ 9w
EAT H 57% F4T BRI ?

(a) 136-74

(b) 14946

(c) 181-26

(d) 197-16



76.

77.

78.

Which one of the following is the
correct sequence of the positions in the
Bay of Bengal from North to South ?
(2) Guilf of Mannar — Palk Strait —
Palk Bay

Palk Strait — Gulf of Mannar —
Palk Bay

(b)

(c) Palk Strait — Palk Bay — Gulf of
Mannar '

(d) Palk Bay — Palk Strait — Gulf of
Mannar

Which one of the following is the main
objective of Vienna Convention and
Montreal Protocol ?

(a) Combat desertification

(b) Formulate sustainable develop-
mental goals

(c) Protection of ozone layer

(d) Combat climate change

There are five friends — Sachin, Kunal,
Mohit, Amit and Sohan. Sachin is
shorter than Kunal but taller than
Sohan. Mohit is the tallest. Amit is
little shorter than Kunal and little taller
than Sachin. If they stand in the order
of increasing heights, who will be the
third ?

(a) Amit
(b) Sohan
(c) Sachin

(d) Kunal

27

79.

80.

81.

If M is brother of N, B is brother of N'
and M is brother of D, then which one
of the following statements is definitely
true ?

(a) N is brother of B

(b) N is brother of M
(c) N is brother of D
(d) M is brother of B
If in a certain language GAMBLE 1is

coded as FBLCKF, how is FLOWER
coded in that language ?

(a) GMPVDS
(b) GKPVFQ
(c) EMNXDS
(d) EMNTDS

In this item, four words have been

~ given, out of which three are alike in

some manner and the fourth one is
different. Choose the odd one out.

(a) Friendship
(b) Intimacy

" (¢) Attachment.

82.

(d) Enmity

One-sixth of a number is 53. What will
be 57% of that number ?

(a) 136:74

(b) 149-46

(c) 181-26

(@) 197-16
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' ss.#ﬁﬁwﬁﬁa%ﬁaﬁr@r 200% wigr fear

84.

85.

AT ® 3R & W 300% =er far s

2, @ ohomdt B 5 % | Tw P

ot ? ¥

(2)

(b)

(c)

(d)

g A U ya fadman, fefeafea

Fyam @ adie ?

(a) &R faffaa veufal & eaf #
B ®

(b) Frafem & Sefiear 89 =1 after
wfvafa (Hfia) gar @

(c) =EElR® dRk W aff qaent #
HAGH oA o ATHR BT &

(d) ™ & @ sfrafs ot & ok
AT A 9 Ry =@
FftreR g ®

g -ftge it oo #§ feafafea 3

VS o AE AR ?

(a) WRd WHR TN ofdea T g
Ferelt forcfta IR & wwery & e &
wanes

b) Ra  w@hm PR ¥ = &
Tt ()

(c) T 117 N Veelt F IFER
% focfiw fadme

) g K w@ha i § = @
ILIGRIEE]

Sk Sk Sk Sk

GHY-F-BST - A
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86.

87.

88.

‘W e AR B FR wET IR
FTE FAT B F T
T |uY ST g, wRa & Wl
& frafofes § @ e sty &1 Syay
£ 7

(a) TsT H A & freys o

(b) ¥ heled

(c) 7ot AfaR

(d) Sefirer

frafafes & @ aF & @
(siftemrfehl) YA seEEl” &
AT Tl R aehelt ?

(a) 9=maa gfufaar

(b) e faftres ar wfufy

(c) T wftrery

(d) v== = it dar wfify

“atew sifenfet’’ (Rftesw) &
oy ¥ fafafaa # @ 99 @1/ ==
e R/E ?

1. = fowm ? f5 gt ® A9
A oAt qed oA @
I Hrett & Y de @aTE €9
A|RE

2. ¥ o waen e & wi
?

3. I FH IINNT SE 3R w1 afne
JATGH SaYell R o o &
2 3 ™ = = W\ | w6 S®

g

(a) Haw

(b) Fae 2

(c) 1,23R3

(d) Fa23R3



increased by 200% and the deno-
minator is increased by 300%, the

resultant fraction is I—?]. What was the
original fraction ?

@ ¥
®) 4
© £
@ B

~ 84. Which one among the following is

NOT the central feature of Polyarchy ?
()

Covitiinielt. gy e - Bl oF
elected officials

(b)
()

Right to run for office is restricted

Practically all adults have the
right to vote

(d)

There is free expression and a
right to criticize and protest

| 85. Which one of the following does NOT

fall under the definition of the Money
Bill ?

(a) Amendment of law with respect to
any financial obligations under-

taken by the Government of India

(b) The payment of money into the

Consolidated Fund of India

Any financial bill as per require-
ments of Article 117

d

Appropriation of money out of the
Consolidated Fund of India

83. If the numerator of a fraction is |

29

86.

87.

88.

“To cherish and follow the noble ideas
which inspired our national struggle
for freedom” is a provision of which
one of the following of the Constitu-
tion of India ?

(a) Directive principles of the state
policy

(b) Fundamental duties
(c) Fundamental rights
(d) Preamble

Which one of the following authorities
CANNOT organize ‘Lok Adalats’ ?

(a)
(b)
(©)
d

Panchayat Committees

Taluk Legal Services Committee
District Authority

High Court Legal Services Com-
mittee

Which of the following statement(s)
is/are correct in respect of the
‘ecoradicals’ ?

1. They believe that human societies
on earth are moving dangerously
closer to the limits of the earth’s

carrying capacity

2. They call for strict population
control

3. They stress for less consumption-
oriented and waste-producing way
~of life

Select the correct answer using the
code given below :

(a) 1 only

(b) 2 only

(c) 1,2 and 3
(d) 2 and 3 only

A — GHY-F-BST




89, yrdfAT TS & W) feafofea # ¥

Y T TR R ?

1. o Jewd fog @A™ # gER &
o7

2. 9 WeRy ¥ snuia o1

3. o fawam vy § o

4. 3N TG WA @ 9gd WAl
femar =

= e T Fe w1 W W EE SW

g .

(a) Hhae 132

(b) Hhaet 2 31X 3

(c) 1,233

(d) 134

90. s TEaTiEt ¥ 1892 % FRR

e (sfufam) = fere st fopam ar 2

(a) Sn@ﬁaﬁqﬁw%mm‘fﬁm'

EERA R ;

(b) WIdT IRuel & TeEdt < T&T g
KRR

(c) RwE & arffe awe ) ==f &=
1 3R B foar @ |

(d) 3@ THR q HEwHE HEl W
wRatEt st e 1€ e ar

91. Ied Fead Weh wI SfaeE F i

STA] ST o1 ?

(@) 1857 & fage & <MW SRR
fafestt (se) & faems o
|ord o g o A,

(b) ¥ mehars Hed & S A

(c) 1870 & TUSF ¥ IgiH Il &F

faoms w ave fge w1 AgE
feran

(d) ¥ WRAT T FAF & ThH AR
qf@cdarat aar &

GHY-F-BST - A

30

92.

93.

94.

Freafafaa i v = FETTERE
w9 ¥ aferd HIfvg (IRY ¥ IF w9
T) :

1. ¥ fean waifioym

2. GAT ATESA{h WH

3. HAgE HElSA 9491

4. S HfESE TEfoaE

= Ry T He W TN W A SR

gfre

(@) 1,2,3,4

() 1,3,2,4

) 2,3,4,1

(d 3,2,1,4

TR (ATEAER) Eﬁrﬁmnarﬁm

w4t wftg ot ?

(a) ¥ TFI gAY Fheat of

(b) ¥ TG AT T A

(c) ¥ g wRE i off |

(d) ¥ A wifa e & faems
fegie @ o

wMe few@ gEwie (HDI) a9 &
FER, FaUE FH A N w wQ
T faffie da S ar g ?

(a) RS, 79, e, fegwrde
(b) =, fergods, sefemn, smaeds
() 7, seforan, st fergete
() feresrete, smawefe, 1, sefm



89. Which of the following statements

about Prarthana Samaj are correct ?

1. Its aim was to reform the Hindu
society :

2. It was based in Maharashtra
3. It believed in monotheism

4. It had greatly influenced the
Brahmo Samaj

Select the correct answer using the
code given below :

(a) 1 and 2 only
(b) 2 and 3 only
(c) 1,2 and 3
(d) 1 and 4

90. Why did the early nationalists oppose

the Council Act of 1892 ?

(a) The number of members of the
Imperial Legislative Council was
increased

The number of members of
Provincial Councils was increased

(b)

(©)

The Councils were given the right
to discuss the annual budgets

The Act did not give the Indians
control over the public funds

()

91. Why was Vasudeo Balwant Phadke

known in history ?

(a) He led a violent struggle against
the British during the revolt of
1857

He was a critic of Gandhian
struggle

(b)
(c) He led an armed uprising against
the British in the 1870s

He was a radical leader of the
Indian National Congress

(d)

31

92. Arrange the establishment of the

93.

following in a chronological order
(starting with the earliest) :

1. The East India Association
2. The Poona Sarvajanik Sabha
3. The Madras Mahajan Sabha

4. The Bombay Presidency Associa-
tion

Select the correct answer using the
code given below :

(@ 1,2, 3,4
(b) 1,3,2,4
(c) 2,3,4,1
(d 3,2,1,4

Why was the Sittar poetry of Tayauma-
navar famous 7 .

(2)

The writings were nationalist
compositions

(®)
©

The writings were romantic epics

The writings were devotional
songs

(d)

The writings were protests against
the caste system

. Which one of the following is the

correct arrangement of the countries in

descending order according to Human
Development Index (HDI) value ?

(a) Ireland, Norway,  Australia,
Switzerland

(b) Norway, Switzerland, Australia,
Ireland

(c) Norway,  Australia, Ireland,
Switzerland

(d) Switzerland, Ireland, Norway,

Australia
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95,

96.

ITRfearH] IaHe! 9 S & & |
feaffea i a s adfi s g ?
(a) frgifee qema: 3w ©W
(b) -7l & qega: gftrr sk

cfor-gd ofimr - #®  ymeRdE
Fequlf 99t a9 &1 &l BIg W

(c) el srshiet 3R ST arfegforan

(d) S8 et qera: efror-afedh
srfe

rergH §

1. WERGEE WG Hed

2. 9 91g 3K geAhl ga

3. gEET =reEr

4, safeuafa ok fear (afmmrn) =t
# gfiadasfier

i R U Fe @1 WA W ' SW

g

(@ 1,23R4

" (b) a2 3R 3

97

(c) 133
(d) 2,334
Tereft viftpa aftar gro wgm (amaftssa)

Wiellee A&t & gofh ¥ el §9aH I,
forg &9 # T W@T ® ?

(a) =me] At
(b) Sielte uwET
(c) wmerer
(@ feam
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98ﬁmﬁfﬁaaﬁ@raﬁ=rm,@g<m

99,

et sgantees e it g ¢

(a) "=t fHem

(b) =% =1t 3K fewr s (3m3@ #R)
(c) ISyt fAgg

(d) raETg e

INSPIRE Sl WRd &R & T&h SR

ued ®, frafoa € 2

(a) fomm sk srEum ¥ wfw =
FTeftd oA & forg

(b) wivtgmr (Weamed) & mem @
FEeT SHfa & fog

(o RRm S&T TERd &

HTEHT ! FgrET 7 % fog

(d) FgEEE & I9YTH (ATT) &AT H
IUTEgTh SR & SgHT

100. T wien P A g 150 yH & A A

qeel 90 VAT & 40% I el 7 el S
fear & | afe doof wen # S 60% i
WH A B df A9 60 WAl & fehaw
TRV &1 IR S BH-3leh AT BRI ?

(a) 75

(b) 80

(c) 85

(d) 90



9s.

96.

97.

Which one of the following does NOT
fall in the areas of tropical deciduous
forest biomes ?

(a) The Neotropics mainly West
Indies

(b) Indo-Malaysian zone mainly in

south and south-east Asia except

equatorial evergreen rainforest
areas

(c) Eastern Africa and northern
Australia

(d) North America mainly South-west
America
Doldrum are
1. equatorial calms
2. calm and light winds
3. roaring forties
4

. variable both in position and in
extent

Select the correct answer using the
code given below :

(a) 1,2 and 4
(b) 2 and 3 only

(c) 1and 3

(d 2,3 and 4

The gently sloping accumulation of
coarse alluvium deposits by a braided
stream is known as

(a) sand bar
(b) alluvial fan
(c) bajada

(d) diaras

33

98.

~ 100.

Which one of the following is NOT a
palaeoclimatic geological indicator ?

(a) Lacustrine deposits
(b) Ice sheets and ice cores
(c) Evaporite deposits

(d) Sedimentary deposits

. INSPIRE is an ongoing initiative of

Government of India for

(a) attraction of talent for science and
research

research advancement
nurturing

(®) through

(©)

promoting research among various
S & T stakeholders

(d)

augmenting quality manpower in
niche areas of research

In a test consisting of 150 questions,
Neha answered 40% of the first 90
questions correctly. What per cent of
the 60 questions does she need to
answer correctly for her score in the
entire test to be 60% ?

@@ 75
(b) 80
(c) 85
(d) 90

A — GHY-F-BST




101.

102.

103.

104.

T 9% W 2700 W H I R TH
=fth w 10% Ht wft Bt ® | 4R 3

€ qEF W 3600 TR F 9N, A SEH

e foraer v gvm 2
(a) 15
(b) 18
(c) 20
(d 25

it BCYX, EFVU, HISR, KLPO, ........
T STEAT IS T BRI ?

(a) NOML
(b) NOLM
(c) ONML
(d) ONLM

Ig gaaH quits, & 2940 & N A
R TH QUf o o9 T, TR ?

(@ 10
®) 15
(c) 20
) 35
o 3 s AT R wen ¥ da @
e # wew fear sman ® @ @@ W

WA 27 &G SaT § | UE o 3Rt arent
AT F AN

(a) 235
(b) 249
(c) 213
(d) 180

GHY-F-BST - A

105.

106.

107.

afg 5472=9, 6342 =6 3R 7584 =6
®, 99 9236 T § ?

(@ 2

(b) 3

(c) 4

@ 5

forr o % wow & w9 A g
fra s & forg fomeht =afer g s
g e A a R @ € 2
1. So9CH T T s FEEy
g et &9 # foges R 9 &
foq aféa =% =

2. ww Afeh fra foxflg wmelt sk
YA | AIF A B

3. @& =t B sdfuyre = fafye

9 fou U g 1 W@ W wE W
fer -

(a) 1,233

(b) Shad 1 3R 2

(c) Faw 23R 3

(d) Sae 133

frrafofea # & fra diftaw = o w9
fie AR R TRE F TEgOTR
U@’ | qar of ?

(a) S ==
(b) TT=EA
(c) & HeTad

(d) T &l FeAEd




101.

By selling an article for ¥ 2700, a man
loses 10%. If he sells it for ¥ 3600, his
gain per cent is

@ 15
(b) 18
© 20
@ 25

102. The next term of the series BCYX,

103.

104.

EFVU, HISR, KLPO, ..........
(a) NOML

(b) NOLM

(c) ONML

(d) ONLM

The least integer when muitiplied by
2940 becomes a perfect square is

(ay 10

®) 15

(c) 20

(d) 35

When the digits of two-digit numbers
are reversed, the number increases by

27, the sum of such two-digit numbers
is :

(a) 235
(b) 249
(c) 213
(d) 180

35

105.

106.

107.

If 5472=9, 6342=6 and 7584 =6,
then what is 9236 ?

(@) 2
(b) 3
(c) 4
@ 5
Which of the following are the
essential requirements for a person to

be appointed as a member of Finance
Commission ?

1. A Supreme Court judge or one
qualified to be appointed as such

2. A person having wide experience
in financial matters and adminis-
tration _

3. A person having special know-
ledge of economics

Select the correct. answer using the
code given below :

(@ 1,2 and 3

(b) 1 and 2 only

(c) 2 and 3 only

(d) 1 and 3 only

Which one of the following musicians

served at the courts of Raja Man Singh
Tomar and Bahadur Shah of Gujarat ?

(a) Baiju Bawra

(b) Tansen

(c) Lal Kalawant

(d) Rang Khan Kalawant

A — GHY-F-BST



108. g9 Ffa HH-H-AeoE T AGH
i ar ?

(a) 3 T 3 FoIR
(b) Az facht
- (¢) Y@ FromdE sitfern

(d) R gEr

109. frafofea & ¥ forg 1924 § AR
e veam e # e g ot ?

(a) HIFR IEHS, TH. T. 3, sitwa
IEATt, Afert e

(b) TE=TR el 3R Yieha SEATL
(c) TH. T W 3R wa. Y. =51e

(d) TR TeAg IR TH. TH. R

110. Tr&AT 3R I et & frafafaa
ZH A A w1 we ghfera e ® ?

(a) e foeam :
HeQH

o TEIR |y, I
TH. AR, SE

: WA A
& ¥ I T

(b) EEE-Sd
Iem-u-feg
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e AR o T
it

(d) w afaE : . .
i

m.f=ffee & a =/ @, @
(3riafer) wet o W wRar § ?

(a) g 3R 9=t & < & 7

(b) g4 IR gewel (X wqw) A
AgeT * A" F TE

(c) gzt & foeme & e
(@) 99 & 9’ IR F 7E

112. gt 1 &t gt 11 & @19 gafea Hifse

IR gt & F= Ry T 5 @ W
T el I g :
List I List II
(1-wwfa) (%)

A. TE 1. ag fafa
B. &« 2. T faafa
C.ufee R 3. @ frafa
(Frerdft A=) |, o e

D. #RA (feie)
& :
A B C D
T R RO B
s e PR
(c) 2 3 4 1
@ree s 3.4




108. The Sufi work Kashf-ul-Mahjub was

written by

(a) Abu’l Hasan al Hujwiri

(b) Moinuddin Chishti

(c) Shaikh Nizamuddin Auliya

(d) Amir Khusrau

109. Who among the following were jailed

in the Kanpur Bolshevik conspiracy
case in 1924 ? :

(a) Muzaffar Ahmad, S. A.Dange,
Shaukat Usmani, Nalini Gupta

(b) Muhammad Ali and Shaukat

Usmani
(c) S.A. Dange and S. V. Ghate

(d) Muzaffar Ahmad and S.S.
Mirajkar

110. Which one of the following pairs of

organization and their founders is NOT
correctly matched ?

(a) National - : Tej Bahadur
Liberation Sapru and
Federation M. R. Jayakar

(b) Jamiat-ul : Maulana
Ulama-i Hind Mahmudal

Hasan
Shaikh-ul-Hind

37

111.

112.

(c)

(c) Congress : B. G. Tilak
Democratic
Party

(d) Congress : M. N. Roy

Socialist Party

Which one of the following represents
the inner planets ?

(a) Planets between the sun and the

earth

Planets between the sun and the
belt of asteroids

(b)

Planets near the earth

(d) Planets around the sun
Match List I with List II and select the

correct answer using the code given
below the Lists :

List I List II
(Landform) (Agent)
A.Loess 1. Wind deposited
B. Tombolo 2. Glacier deposited
C. Point bars 3. River deposited
D.Moraines 4. Sea deposited

Code :
A'B. C D
)Lk 3
L g SRl TRSEE A
i e e ol S

e e T SR
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T S R TR SRR < M e WL
T :

List I List II
() (R # ff)
A. ¥R ?f(?
| ke
B. &rd
£ M % by
\
D. s \@ g \i

| :
) R C." B
2 4 3 1
(b) 1 3 4 2
R 3 4 1
(d) 1 " SRR 2
114.3f} 2(3]4=143R 3[4]6=60%, @  115. Frafafea Aoft = =R Hiftre :
4[517="2 1,9,17, 33,49, 73, ...
(a) 72 ﬁw&rfﬁaﬁ%gﬁmaﬁmﬁrq
®) 84 (@) 99
(b) 97
(c) 96 © 95
Sk @ o1
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113. Match List I with List II and select the correct answer using the code given below the
Lists : '
List I List II
(River) (Location in map)

A. Penner
B. Vaigai
C. Cauvery

D. Kn’shna

Code :
A B C D
(a) 2 4 3 1
(b) 1 3 4 %
(c) 2 3 4 1
(d) 1 4 3 2
114. If 2 [3] 4=14 and 3 [4] 6 =60, then 115. Consider the following series :
4[5]17=" 9, 12, 33,4005
‘ Identify the missing number from the
(a) 72 ) following :
() 84 (a) 99
(b) 97
96
© (©) 95
(d) 108 (d 91
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A qF T T # ¥ W G U
oS
(a) 12
(b) 16
(c) 32
d) 48
117. feafofes & @ 99 & F9 194
yraTsa o 3id ¥ iferes # w3t wHe
Fladadt g ?
1. =T sl & A= 3@ S
AT TR AT
2. 584 ‘ufg’ srrer vl sfgewo
& yEATa hit
3. 9 WS # AEmAIhiEl & Age
TS IR dAnga A fean
weTf=Terdl & U Faen g
3
4, S QAT I AT H ATH GHIS
ol 9 o
I fou U e 1 WERT 9K Rl SR
- gfe
(a) Sad 1 3R 2
(b) 1,233
(c) Faw 3 3R 4
(d) 1,3 3R 4

GHY-F-BST - A

40

118. HEIHT WiEl & WOWE & SR A
fraafafaa & @ o9 @ /4 w97 @
R/R?

1. eféor srhie # AeeEe % Reers

F@ U 9N FREE F R B
LS ¥ qEAUYH GAWE & WA
foram &

2. TOWE & QI Aedyul €UeH o
- a3k C‘afear’

3. FOFEl S 1 RRg @E w
FE IgAER aRd & A {6 Rifiat
F FE TEAE

4. RG #, GANE H TEWEH VAN
Tiefisft ¥ soroer 7 fear

9 Ru T Fe =1 W | wE W

fer

(a) Fael 1 AR 4

(b) a2

(c) &ad 4.

@ 1,2,33R4

119. FrETeA! ¥ et Freffy w9 w
ﬁ'ﬂﬂ?ﬁﬁm:

1. §IqaTed AEE AGAHT § qgE
ST :

2. araaTedt = e w1 SR
arTa: fugaEsia o
ST # | D 91/ I a8 8 /% ?
(a) wae 1
(b) e 2
(c) 1323t
(d AL, AE2




116.

117.

Consider the following figure :

Find out the missing number from
among the following :

(a) 12
(b) 16
{c) 32
(d) 48
Which of the following statements

about the Arya Samaj which emerged
in the late 19th century are correct ?

1. Had a very strong support base
amongst the trading castes

2. Introduced ‘shuddhi’ or mass puri-
fication

3. The moderates in the Arya Samaj
were headed by Hans Raj and
Lajpat Rai and set up a chain of
Dayanand Anglo-Vedic colleges

4. The Arya Samaj had fewer
members than the Brahmo Samaj

Select the correct answer using the
code given below :

(a) 1 and 2 only
(b) 1,2 and 3
(c) 3 and 4 only
(d) 1,3 and 4
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118.

119.

Which among the following statements
about Mahatma Gandhi’s Satyagraha
is/are correct ?

1. It was during the course of his
campaign against racialism in
South Africa that Gandhiji first
applied Satyagraha

2. The two vital ingredients of
Satyagraha are ‘truth’ and ‘non- -
violence’

3. The Satyagrahi resists evil by
inflicting suffering on himself and
not by inflicting suffering on the
opponent

4. In India, Satyagraha was first tried
- by Gandhiji in Champaran

Select the correct answer using the
code given below :

(a) 1 and 4 only

(b) 2 only

(c) 4 only

@ 1,2, 3 and 4

Consider the following statements
pertaining to the Satavahanas :

1. Satavahana rulers were identified
through metronymics

2. Satavahana succession to the
throne was generally patrilineal

Which of the statements given above
is/are correct ?

(a) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

A — GHY-F-BST



120.

121.

122.

T 1@ g 10 % ' gata it
#R gfwdt F 9 g T g w1 @
W TR IW g :

List IT
(7t #

List I
(fefer=

(@
(b)
©
@

et w1 ¥ fififa 37 18 = w0

T fafofas & @ <9 @1 @& 7w fen

TR ?

(2a) THEER TFNE

(b) ¥ RS THFHE

(c) T THRE

(@) e TS

W @ 9 wEwHA (NCAP)
2024 TF WRA S FF A W 102 W H
Htrhig yerd (uféagee #e) = 20%
A 30% T T oA H GeF W@ ¢ |
TIGUT S ForT o forg smaR ad = § 2

W oA AW P
- N = N

N o= N~ M

D
4
3
o
4
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123.

124.

125.

(a) 2015
(b) 2016
(c) 2017

(d) 2018
AR e & frefafaa & @ foa

U IWNfh &6 99 ol |7E 2019 ¥
¥ar 7o (feehivi) fomar aram 2

(a) INS Tom
(b) INS TG

(c) INS T=Id

(d) INS feaRes

AR 9 &1 3 Bt & § AH-64E (I) —

TN WS Bfereer e feRm @
T efvrarex =t fafifa gam @ 2

(a) WA
(b) &4
(c) ®TE

(d) USA

‘e A ft WU @R 9Tl

e ou Ffofed # & @ a2

(a) wtew
(b) “gsitete
(c¢) UK
(d) A



120. Match List I with List II and select the

correct answer using the code given
below the Lists :

List I List IT
(Border of (Location
Sikkim) in map)
A. Nepal
B. Bhutan
C. China

D. West Bengal

.Code:
g N e
(@ 3 SR
T T il S
B4 2. % -3
' e s R

121. Which one of the following is the

name given by Indian Railways to the
indigenously manufactured Train 18 7

(a) Humsafar Express
(b) Vande Bharat Express
(c) Ananya Express

(d) Gatimaan Express

122. The National Clean Air Programme

(NCAP) aims to reduce particulate
matter (PM) in at least 102 cities of
India by 20% — 30% by 2024. The base
year for the comparison of concentra-
tion is

43

123.

124.

125.

(a) 2015
(b) 2016
(c) 2017

(d) 2018

Which one of the following frontline
destroyer of Indian Navy was decom-
missioned in May 2019 ?

(a) INS Rana

(b) INS Ranjit

(c) INS Rajput

(d) INS Sindhurakshak

The Indian Air Force has recently
acquired the AH-64E (I) — Apache
Guardian helicopter. The helicopter is
made in

(a) India

(b) Russia

(c) AFrance

(d) USA

Which one among the following was

the first country to declare ‘Climate
Emergency’ 7

(a) Sweden

' (b) New Zealand

(¢) UK

(d) Ireland
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write anything else on the Test Booklet.

This Test Booklet contains 125 items (questions). Each item is printed both in Hindi and English.
Each item comprises four responses (answers). You will select the response which you want to
mark on the Answer Sheet. In case you feel that there is more than one correct response, mark the
response which you consider the best. In any case, choose ONLY ONE response for each item.
You have to mark all your responses ONLY on the separate Answer Sheet provided. See directions
in the Answer Sheet.

All items carry equal marks.

Before you proceed to mark in the Answer Sheet the response to various items in the Test Booklet,
you have to fill in some particulars in the Answer Sheet as per instructions sent to you with your

- Admission Certificate.

After you have completed filling in all your responses on the Answer Sheet and the examination has
concluded, you should hand over to the Inwg]lator only the Answer Sheet. You are permitted to take
away with you the Test Booklet.

Sheets for rough work are appended in the Test Booklet at the end.

Penalty for wrong Answers :

THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN THE
OBJECTIVE TYPE QUESTION PAPERS.

(i) There are four alternatives for the answer to every question. For each question for which
‘a wrong answer has been given by the candidate, one-third of the marks assigned to that
question will be deducted as penalty.

(i) If a candidate gives more than one answer, it will be treated as a wrong answer even if one
of the given answers happens to be correct and there will be same penalty as above to that
question.

(i) If a question is left blank, i.e., no answer is given by the candidate, there will be no penalty
for that question.

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO
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